= |EEA
A |eco
’@) PASS

PORT.

g

Product Environmental Profile
Centre plate socket 2P+E black

Company information References covered

Hager WL6213, WL6212, WL6210

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: infopep@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version No PSR issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product Functional unit

Reference product identification Cover plate for domestic socket devices
WL6213

Use scenario based on :
PSR product Category : No PSR The functional unit is based on the use scenario recommended by the PCR for the category of the reference
0 product.

Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

HES Metals Others
g % g % g %

PC 10.57 47.5% Stainless steel 1.00 4.5% Cardboard 8.33 37.5%

O PP 1.00 4.5% Calcium 0.01 <0.1% Wood 0.52 2.4%
PE-LD 0.11 0.5% zinc 0.00 <0.1% Cardboard 0.42 1.9%
Epoxy resin 0.05 0.2% Silicon 0.00 <0.1% Other 0.08 0.4%
Polyester resin 0.05 0.2% Titanium dioxide 0.04 0.2%
Other 0.04 0.2%

Total mass of reference product with raw material

packaging : 22249

Total mass of reference product

(Product + packaging) ol

PEP ecopassport 1/5 HAGE-01335-V01.01-EN



System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing Distribution Installation End of life Module D
{2
£
= © 7]
@ o > @
= j=2) o =
< 2 - - £ £ 2 | 88 3
2 & <} S 537 3 =] @ > = 0 2
S 5 | € ] ] e 2 © S = c9 T 3
gc |2 2 s 58 S8 @ g c 2y 29 S °a o2 g8
Sa |8 = =] g R4 2 5 S 58 e g £ CE B = =
9| E 2 S g S g S c s = € = o c & T o £ @ ] S £
4 2 S o S o o £ < = = E® 7} = S ® S > a3 c
TO | @ 3 5% =5 306 S =% ] = 9] £ IS o o = I &2
=9 | £ 8 3% Lo [ 2 o) 3 =} = o3 7 =] = 9 =3 1
85 |% El =] T g 3 < @ o 2 23 | 53 2 5o 28 a 25
8g | = 3 2 3 ] 5 2 < 9] S o @ =5 = T o
Eclg| = ol £2 e s = x & SS | 2¢ a g | 2% S <
g |3 2 2 3£ g g s | 58 @2
£ |2 = = 2 | g £ 83 8
[ w = = = Fy
= 2 9
2
o

B3 B4

Life cycle stages

Manufacturing Distribution
These products are manufactured by a site that has received an environmental The packaging has been designed in accordance with current regulations. In particular,
certification 1SO 14001. the European directive 94/62/CE relative to packaging and packaging waste.
This phase takes into account raw materials, manufacturing processes, production The used packaging is 100% recyclable or recoverable.
offcuts and their end-of-life treatment, upstream transport of materials and sub- Packaging and logistic flows are continuously improved in order to reduce their impact.
assemblies to the manufacturing site, and transport from the manufacturing site to the
final logistics platform. This phase taken into account the transport of the finished product, including packaging,

to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the the packaging waste treatment is taken into account.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0 100% 0 0% 0 0% 0 0% 0 100%

For the considered scenario, the product has no energy consumption.

Energy model of the use phase :
Europe

Consumables and maintenance :
None

End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 32%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

Al calculations are done with EIME software version 6.2.5-3 with the database version CODDE® 2024-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturi Distribution Installation End Of Life

ng A4 A5 C1-C4
Europe - Europe Europe Europe

PEP ecopassport 2/5 HAGE-01335-V01.01-EN



Environmental impact indicators

- . Manufacturing Distribution Installation Use End Of Life

Indicators Unit ALAS Ad | AS | B1B7 | ci-ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq. 2.52E-04 2.39E-05 2.68E-05 0.00E+00 8.49E-05 3.88E-04 -1.41E-05
Climate change - Total (PEF-GWP) kg CO2 eq. 6.49E-02 3.76E-03 1.28E-02 0.00E+00 1.55E-02 9.69E-02 -2.02E-02
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -1.16E-02 0.00E+00 2.12E-03 0.00E+00 3.02E-04 -9.19E-03 -7.94E-06
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 7.65E-02 3.76E-03 1.06E-02 0.00E+00 1.52E-02 1.06E-01 -2.02E-02
Climate change-Land use and land use
change (PEF-GWPIu) kg CO2 eq. 1.57E-05 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.57E-05 0.00E+00
Ecotoxicity, freshwater (PEF-CTUe) CTUe 6.82E-01 2.47E-03 1.33E-01 0.00E+00 5.57E-02 8.73E-01 3.63E-03
EF-particulate Matter (PEF-PM) '”j;::;i;"f 2.78E-09 1.94E-10 1.62E-10 0.00E+00 9.24E-10 4.06E-09 -7.32E-10
Eutrophication, freshwater (PEF-Epf) kg P eq. 4.10E-07 1.41E-09 1.33E-07 0.00E+00 2.11E-07 7.56E-07 -5.33E-08
Eutrophication, marine (PEF-Epm) kg N eq. 5.34E-05 1.12E-05 1.24E-05 0.00E+00 1.49E-05 9.19E-05 -3.81E-06
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 5.22E-04 1.23E-04 7.87E-05 0.00E+00 1.69E-04 8.92E-04 -4.92E-05
Human toxicity, cancer (PEF-CTUh-c) CTUh 5.45E-09 6.62E-14 1.01E-09 0.00E+00 7.75E-12 6.46E-09 -2.88E-12
Human toxicity, -cancer (PEF-CTUh-nc) CTUh 5.96E-10 1.28E-12 3.01E-11 0.00E+00 1.28E-10 7.55E-10 -1.91E-11
lonising radiation, human health (PEF-IR) kg Bq U235 eq. 7.77E-02 9.18E-06 1.60E-03 0.00E+00 7.84E-04 8.01E-02 -5.99E-05

use (PEF-LU) No dimension 4.46E-02 0.00E+00 2.43E-05 0.00E+00 2.83E-02 7.30E-02 -1.42E+00
Ozone depletion (PEF-ODP) kg CFC-11 eq. 4.75E-09 5.78E-12 1.21E-10 0.00E+00 1.90E-09 6.78E-09 -1.89E-10
Photochemical ozone formation - human
health (PEF-POCP) kg of NMVOC eq. 1.90E-04 3.10E-05 1.83E-05 0.00E+00 5.22E-05 2.91E-04 -1.24E-05
Resource use, fossils (PEF-ADPf) MJ 1.59E+00 5.26E-02 9.17E-02 0.00E+00 2.42E-01 1.98E+00 -2.38E-02
(F;e;gicDeP:?e, IR SIS kg Sb eq 7.01E-07 1.48E-10 2.34E-10 0.00E+00 1.19E-07 8.20E-07 2.98E-09
Water use (PEF-WU) m3 eq. 3.02E-02 1.43E-05 8.09E-04 0.00E+00 2.60E+00 2.63E+00 -1.00E-01
Resource use indicators
- Manufacturing Distribution Installation Use End Of Life

Indicators AL-A3 Ad | A5 | B1.BT | c1-ca | GLOBAL | Module D
Net use of fresh water 7.02E-04 3.33E-07 1.88E-05 0.00E+00 7.16E-02 7.24E-02 -2.97E-03
Total primary energy 1.69E+00 5.26E-02 1.04E-01 0.00E+00 2.56E-01 2.10E+00 -2.30E-01
Total non renewable primary energy 1.59E+00 5.26E-02 9.17E-02 0.00E+00 2.42E-01 1.98E+00 -2.38E-02
Total renewable primary energy 1.01E-01 7.02E-05 1.24E-02 0.00E+00 1.31E-02 1.26E-01 -2.06E-01
gﬁ:r;”ewab'e primary energy used as 1.22E+00 5.26E-02 9.17E-02 0.00E+00 2.42E-01 1.61E+00 -2.38E-02
:‘;’:e"riea']ewab'e primary energy used as raw 3.68E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.68E-01 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 8.31E-02 7.02E-05 1.24E-02 0.00E+00 1.31E-02 1.09E-01 -2.06E-01
::i:'::r‘;";lb'e primary  energy used s raw 1.75E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.75E-02 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 9.33E-03 0.00E+00 0.00E+00 0.00E+00 0.00E+00 9.33E-03 0.00E+00

PEP ecopassport 3/5 HAGE-01335-V01.01-EN



Waste category indicators

Indicators

Hazardous waste disposed

Manufacturing
A1-A3

5.18E-02

A4
0.00E+00

| Distribution

Installation
A5

2.26E-04

0.00E+00

End Of Life
C1-C4

4.37E-21

GLOBAL

5.20E-02

5.03E-22

Non hazardous waste disposed

9.60E-02

1.32E-04

4.49E-03

0.00E+00

2.05E-06

1.01E-01

1.70E-21

Radioactive waste disposed

3.27E-05

9.42E-08

5.00E-07

0.00E+00

1.46E-09

3.32E-05

0.00E+00

Output flow indicators

Indicators

Manufacturing

A1-A3

Distribution
A4

Installation
A5

End Of Life
C1-C4

GLOBAL

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 1.76E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.76E-04 0.00E+00
Materials for energy recovery 2.39E-04 0.00E+00 1.13E-03 0.00E+00 0.00E+00 1.37E-03 0.00E+00
Materials for recycling 2.05E-04 0.00E+00 4.21E-04 0.00E+00 0.00E+00 6.26E-04 0.00E+00

Biogenic carbon content

Packaging

Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01
8.75E-03 2.32E-05 5.23E-04 9.30E-03
Biogenic carbon content (declared unit) 2.45E-03 8.79E-06 2.07E-04 2.67E-03
Biogenic carbon content (functional unit) 2.45E-03 8.79E-06 2.07E-04 2.67E-03

ADEME APESA/RECORD EN 16485

Prod dboard Pape ood

g 0.00E+00 0.00E+00 0.00E+00 0.00E+00
arbon conte eclare go 0.00E+00 0.00E+00 0.00E+00 0.00E+00
arbon conte 0 go 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

Drafting Rules PEP-PCR-ed4-2021 09 06
Supplemented by No PSR

Verifier accreditation N°: Information and reference documents: www.pep-ecopassport.org
Date of issue: 2-2025 Validity period: 5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

HAGE-01335-V01.01-EN

Registration N°:

VH37

Internal @ External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a
concrete application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 4/5 HAGE-01335-V01.01-EN



Appendix

Components for re-use - [kg]
Exported energy - [MJ]
Hazardous waste disposed - [kg]
Land use (PEF-LU)
Materials for recycling - [kg]
Net use of fresh water - [m3]
(PEF-ADPe) - [kg Sb eq]
Total primary energy - [MJ]
Water use (PEF-WU) - [m3 eq.]

Materials for energy recovery - [kg]
Use of secondary material - [kg]

Resource use, minerals and metals

Non hazardous waste disposed - [kg]
eq.]
Radioactive waste disposed - [kg]

=
g
&
I
2
]
T
<
N
w
[
=
=}
g
2]
b=}
S
<

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Climate change-Fossil (PEF-GWPf) - [kg CO2 eq.]
Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Eutrophication, marine (PEF-Epm) - [kg N eq.]

Human toxicity, cancer (PEF-CTUh-c) - [CTUI
Non renewable primary energy used as energy - [MJ]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
Renewable primary energy used as energy - [MJ]
Resource use, fossils (PEF-ADPf) - [MJ]
Total non renewable primary energy - [MJ]
Total renewable primary energy - [MJ]
Use of non renewable secondary fuels - [MJ]
Use of renewable secondary fuels - [MJ]

Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]
Human toxicity, non-cancer (PEF-CTUh-nc) - [CTUh]

Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Renewable primary energy used as raw material - [MJ]

lonising radiation, human health (PEF-IR) - [kg Bq U235 eq.]
Non renewable primary energy used as raw material - [MJ]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq]
Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC

20
€ a
€< WIRFEER cico| osicwr| siocer| roeas| ssreos| oooean| ssoeor| aceor| esveos| coreos| sreeas| suseor| susean| o] sisewe| soreor] 2vear] zweor| sres]| soweos| smew] smews| reseos] sweas| sueed| szeos| sea| imece| sisewo| roor] 2sseo| 2ereen] riseas| oovero] oooeao| sssees| srece
<
g
E WIRFIPR oco| reas| siocor| rsseas| ssreos| oooean| sowerco] waseor| roreos| romeos| rmeas| ssocor| susean| rsieso] assece| soreor] 2uear] zieod| sxes]| saseos| zorn] smews| soseos| azreas| ssrees] ssmas| sosear| srece] assesco| suecs] 2sseo| 2siein] riseas| wooeio] oovean| sssees] seece
I
= WINPATORN  oiccor| rsscor| -ssomer| soseor| ssreos| ocomin| roreas| avear| coscos| comos| 1meos| sueor| suseon| emeso| wsoese| serecr| 2eseos| ceos| rsos| saeor| smewn| ameos| sueos| sueos| voscos| sowos| roeor| srece| sreein| seceos| sreeicn| seseico| 11eer| ooveiof ocoero| sameca| azene
s3
§< WINPARI  :cicos| 2ucorf oomewco| 2sseon| omevoo| ocoean| 1aseas resean| ezscos| aseos| oooewco| oomewo| areesa| risess) siseos| oooeico| osoeicof ooveicof sreer| raseos| 2eseoe| owoeito| szeesz| soseao| vreos| saeon| aseos| ooeo| 2oseoe| waers| 2esear| 2sscor| asos| oooeiof ocoeoo| osmeioo| soieon
2 WIRFEPR o] 2uicos| oooeico] 2uieas| omerco] oooevcn| ssoeos| roseso] ezmes| caveos) omerso| sooewo] srzese| rasess| sasean| oworroo| covean| owero| sreor| raseos| 2oeoe] oweo| saere] rmeso| sneos| saseas| soicos| oovco]| zoseer] sssens] 2osece| 2sseor| saseas| wooeio] oooeian| owoerco] soseas
(RFAR :ocox| 2uicos| oooeroo] 2uieas| owerco] oooeuco| ssoeos| roseso] ezmeos| caveos) omerso| wooewo] srzese| raoess| sasean| ovorroo| covean| owero| sreer| raseos| 2oeoe| oweo| saere] rmeso| sreos| saseas| soieos| oovco] zoseer] sssers] 2osece| 2sseor| saseas| wooeio] oooeian| owoerco] soseas
5w
g < (IRFEER o000 ocoe.so| oooero] ocoesan| osoerco] ocoevan| ooesco] oooevan| omeico| oooevon] ouerso| sooeeoo] osueran| acoesoo] ocvevan| ocoesoo] sovevon| owesoo| ooceson] oumesco| “gooesoo] ounescof aooeeoo) ooneuto| oo ootevan| asoesoo| ootevco] owesco| oo0eeco] wesso| aooeeoo) ounesso| aooero] ocoesan| osoerco] sooeran
<
2 (IRFEPR oo0co] ocoeao| oooero] ocoesan| osoerco] oooevan| ooesco] oooevan| omeico| oooeon) ouerso| aooeeoo] osueran| acoesoo] ocoevan| ocoesoo] sovevon| owesoo| ooceson] oumesco| “gooesoo] ounescof aoeoo) ooneutof oo oovevan| acoesoo| ootesco] owoesco| oo0eeco] owesso| aooeeoo) oanesso| aoeoo] ocoesan| osoerco] sooeran
(KA o000 ocoeao| oooero] ocoesan| osoerco] oooevan| ooesco] oooevan| omeico| oooeson) ouerso| sooeeoo] osueran| acoesoo] ocoevan| ocoeeoo] sovevon| osesoo| coceson] oumesco| “gooesoo] ounescof aoeoo) ooneuto| oo oovevan| asoesoo| ootesco] owesco| oo0eeco] owesso| sooeeoo) oanesso| aoeoo] ocoesan| osoerco] sooeran
s
8
32 (IRFEER o000 ocoeso| oooero] ocoesan| osoerco] oooevan| ooesco] oooevan| omeico| oooeron) ouerso| sooeeoo] osueran| acoesoo] ocvevan| ocoesoo] sovevon| owesoo| ooceson] oumesco| “gooesoo] ounescof aooo) oonerto| aooo] oovevan| aoesoo| oooevco] owesco| oo0eeco] wesso| aooeoo) ounesso| aoeeoo] ocoesan| osoerco] sooeran
@
(IRFEPR o000 ocoeso| oooero] ocoesan| osoerco] oooevan| ooesco] oooevan| omeico| oooeron) ouerso| sooeeoo] osueran| acoesoo] ocvevan| ocoesoo] covevon| owesoo| ooceson] ounesco| “gooesoo] ounescof aoeoo) ooneutof aoeoo oovevan| acoesoo| ootevco] owoesco| oo0eeco] owesso| aooeoo) ounesso| aooo] ocoesan| osoesco] vooeran
(KA 000 ocoeao| oooero] ocoesan| osoerco] oooevan| ooesco] oooevan| omeico| oooeron) ouerso| aooeeoo] osueran| acoesoo] ocoevan| ocoeeoo] sovevon| owesoo| ooceson] ounesco| “gooeson] ounescof aooeeoo) ooneuto| oo oovevan| asoesoo| oooesco] wesco| oo0eeco] wesso| aooeeoo) oanesso| aoero] ocoesan| osoerco] sooeran
oS
59 WIRFEER o] rosewr| sorcor] rscear| omerco] vooean| ssrer] suewr| suveos| seveos] omerso| wooew] rrsesof saseso] rseas| 2sseoc| coven| owero| ravece]| 2oseos| 2ueer] oweof sooeos| sameso| saros| rueas| ssieer] oo 2ees| sieor] 2ews| 2sseor] rsieae| ooveio] oooean| owoerco] 2eceao
[oNe)
= WIRFIPR o] sosewr| somor] rscece| omerco] vooean| ssrer] sewr| suveos| s omeso| wooewo] rrsese| saseso] rseas| 2sseoo| covean| owero| rasece| zoseos| 2ueer] omeof sooeos| sameso| sareos| rueas| ssieer] oo 2ees| sieor] 2ews| ssseor] rsieae| woveio] oooeian| owoerco] 2eceao
&
WRFAOR o] sosear| soreor] rscece| omerco] vooean| ssrer] sewr| suveos| sseos] omeso| wooewo] rrsesof saseso] sseas| zsseoo| coven| owero| rasece| zoseos| 2ueer] oweo| sooeos| sameso| saros| rueas| ssieer] ooen] 2eees| sieor] 2ews| 2sseor] rsieae| woveio] oooeian| owoerco] 2eceao
a
E} (RFEER ocox| 2oeae| roicos| 2cmece| omoerco] oooeean| ssseos| ssean] smseos| wszeos) omerso| oooewo] 2mesof soies| soseas| azerco] covean| oweroo| 2orecs| owerco| 2oz owmecof ssvero] rszesof saueos| ooveao| 2oseer| ooveeco] 2sser| soteos] 2ssece| 2seor| 2useds| aooero] ocoeran| owoerco] 1ovean
s WIRFIPR x| 2oece| roicos| 2cmece| omoerco] oooeecn| ssseos| sseon] smeos| wszeos) omerso| oooewo] 2mesof sores| soseas| azerco] covean| owero| 2orecs| owerco| 2soe] oumecof ssvero] rszesof saueos| ooveao| 2oseer| ooveeco] 2sser| 2oneos] 2ssece| 2seor| 2useds| aooero] ocoeran| owoerco] roveas
(URFEOR x| 2ooece| roicos| 2cmece| owoerco] oooevan| ssseos| sseon] smeos| wszeos) omerso| oooewo] 2mesof soies| soseas| azerco] covean| oweroo| 2orecs| owerco| 2oz oumeof ssvero] rszesof saueos| ooveao| 2oseer| ooveeco] 2ssee| 2otecs] 2ssece| 2seor| 2useds| wooero] ocoeran| owoerco] roveas

PEP ecopassport 5/5 HAGE-01335-V01.01-EN



